Bitspawel‘® for NVIDIA GEFORCE RTX 2080

(e

@ Bitspower &1 1k

(2 M2.5x 8 =ik 15 %

(3) M2.5x6 BB 1%

(@) M3x8 ERiB# 43

@ Bitspowertg ik 1k

Accessories

@ Bitspower backplane 1PCS
) (2 M2.5x8mm Screw 15 PCS
< (3 M2.5x6 mm Screw 1PCS
\E (@) M3 x8mm Screw 4 PCS
@ @ Bitspower baffle 1 PCS

DRGB (e

\, J/

e Enorcee (D Bitspower 2517 15

Digital RGB PIN on motherboard @ M2.5 x 8 K184 15%
or other equipment. —

e H e ErDRCBEE  (B) M2.5x 6 BKIBL 1%

@ M3x8Ekigu 4%

@ Bitspower#ti 1k

BP-FT2080RD EmAEYBEER "R,  RINHZEHEARH A EEREEA -
il See "Accessories, for a list of included parts with the BP-FT2080RD, other
il i accessories are sold separately.

BP-FT2080RD M RAEMIEZH ", - RIILZEXHSEAASETmERA -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& KRTREN MR ERURBRNNT - MBENOASITEN - RIS SEGFUIIRE



Bitspower’

for NVIDIA GEFORCE RTX 2080 Ti

(e

@ Bitspower B 1k
(2 M2.5x8 =ik 15 %
(3) M2.5x6 BB 1%
(@) M3x8 ERiB# 43
@ Bitspowertg ik 1k
Accessories
@ Bitspower backplane 1PCS
(2) M2.5x8 mm Screw 15 PCS
(3) M2.5x6 mm Screw 1PCS
(@) M3 x8mm Screw 4 PCS
@ Bitspower baffle 1 PCS
s
s sima s mampoRceEn (D Bitspower iR LA
Digital RGB PIN on motherboard @ M2.5 x 8 EXK1842 15%
or other equipment. —

B EwDRGEEE (B M2.5x6 BKIRL 1%
(@) M3x8Ekigy 4%
@ Bitspower#4ii 1k

BP-FT2080RD EmAEYBEER "W,  RINHZEHEARH A EEREEREA -
il See "Accessories, for a list of included parts with the BP-FT2080RD, other

i i accessories are sold separately.
g BP-FT2080RD FmAEMIBESH ", - RINHZEHSEHAZETREEAN -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE



Bitspower®

SANVIDIA.:E:
D A T

NVIDIA GEFORCE RTX 2080Ti

““E EIJIEEEL@FH {ﬁ% Applying the thermal pad and thermal paste on correct positions. ““@ ):'I *u ~E'mua EIJIEﬁﬁr"FH ﬁl’_ﬁ

EZ] Using appropriate amount of thermal paste. El esERens

ﬁ?ﬂ [ 1 mm Thermal pad B 1 mmEsas
mmi%?%& H [] 2.5 mm Thermal pad ] 2.5 mmEsas

SR KA - AMEFABHE RS ERIOUE L - RREN . MEARMERT - Before filling in the water, please make sure all the components are installed correctly. SR - HKA - BAMATASAEREEEROME L - ERFEN - SIFAROERT -

Al « To prevent any leakage which may damage the PC components, please perform a =
e : 3l h 1 . : y 5 .
ET24/NSRBKAIE - BRERKEREERIN  ReRERKMERBHBIHARS - 24-hour leaking test with only the pump connected to the power supply . T24/\E ORI - RIRTRKEREEFEN - BRERERKISREMBHHBRT
ot
V1/%—HhR




Bitspower’

it : BitspowerZE HEEERZEK - AFK - MABitspowerfIREER KL RER ; MEFBITERNKIRENERERE - KBEE KRB
A BALER KEERRAZHEZEUBRKERAEAURNZEER - HEZRTEEREERER -
RiEKE - BAMEKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
EE : BitspowerZ2WGHBREERAZIEK « A2K - MABitspowerfIRFEAKLZRER ; MEFBITEMMNKLIRSHBEETE - KEEE KRE
A MALER - KEERRAZHEZEUBRKEREERURAZOER - HEEBITRIEERTmRE -

REKE - BABHKRER -

R - BKED - BERIASHERREERNUEL - EAFEIW - BRAKENERT - ET24N\SHEKNE - BRBERKBEREBRAEH  BeiERKMENEMSEHAERER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR HKED - BRBATASHCLREERNUE L - EAFEN - BFOKROERT - #7240 NHKE - BRERKETEEAEN - BRRKERKMNSREBMBANIRL -

FRERBHERNRAELURBENES - MBEHOASITEN - ERESZARGUBYRE - Vl/%_ﬁﬁ
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

AREREN MR EXURBRNNT - MBENCABITEN - RIS SEGFUIIRE -



